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Overall QC vs iteration
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Overall QC, summary distributions

@ 2 distribution

@ Fitted peak distribution

@ Fitted width distribution
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Overall QC, summary maps

@ Fitted peak map @ Fitted width map @ Gain map
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Overall QC, bad channels
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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